


Q: A number is selected at random from first 90 natural numbers.
The probability of the number selected being a multiple of 3 or
51s:-

A Let A be the event that the selected number is multiple of 3 and B be the
- event that the selected number is multiple of 5. n(A)= 30, n(B)=18.

n(ANB) =6, . the selected number will be the multiple of 3and 5.
. The required probability is P(AuUB) =P(A)+P(B)-P(ANB)

30 18 6 42 7
90 90 90 90 15

P(AUB) =
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Q:If P(AnB)=0.4,P(neither Anor B occurs)=0.25and P(A) = P(B),
then P(A%) =7

.+ P(ANB) =0.4,P(A° ~nB®)=0.25and P(A) = P(B),
~ P(AUB)® =0.25

- or, P(A) + P(B)— P(A~B) =1—0.25 .

or,2P(A)—0.4=0.75
or, P(A) = % =0.575

- P(A®) =1-0.575=0.425
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Q:If Aand B are two independent events such that P(Au B) =0.8, P(B) =k,
P(A*)=0.6,thenk is:—?
P(AUB)=0.8
or, P(A)+ P(B)-P(A).P(B)=0.8
or,0.4+k—-0.4k =0.8

- or,1-0.4)k=0.4 -

or,K=—=—
6 3
P(AnB)=P(A).P(B) --Aand B are independent
and P(A)=1-P(A“)=1-0.6=0.4
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Q: For two events A and B, P(B) =%, P(B/A) =§ ,P(A/B) =%,then

P(A)Is:-?

P(AIB)== or, P(ANB) =~ .P(B) :%.

. 2 2
2

or, P(AnB) :E.P(A)

w |

1
:6 -



Q:  The probability to fail in Mathematics is 0.3 and the
probability to fail in Statistics iIs 0.2, then the probability
to fail in at least one subject Is:-

A: Let A be the event of failing in Mathematics and B be the event of

- failing in Statistics.
. P(AuB)=P(A)+P(B)-P(AnB)
=0.3+0.2-0.3*0.2=0.5-0.06=0.44

.~ Aand B are two independent events So, P(AnB) = P(A).P(B)
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Q: Two unbiased dice are thrown together. The probability that at
least one will show its digit greater than 3 Is:-

A Let A be the event that more than 3 appears on the 15 die and B be
the event that more than 3 appears on the 2" die. A and B are

- Independent.

1 1 113

So,P(AuB)=P(A)+P(B)-P(AnB)=—+———.—=—

(AUB)=P(A)+P(B)-P(ANB)=Z+2-2.0 =7
+P(A)=P(B) = 1 - Aand B are two independent events

2 So, P(AN B) = P(A).P(B)
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Q: The probabilities of happening of three independent events

are p;, p, and p; , then probability of happening of at least
one of them Is:-

Ans : The required probability is=1-(1- p,)1- p,)d— p;)

- Q:If Aand B are two events such that P(Au B) =§, P(AUB®) :ﬂ, -

5 5
then P(A)Is:—?

Ans: P(AUB) = P(A)+ P(B)— P(A B) = g
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P(AUB®)=P(A)+P(B®)—P(ANB°®) =

4
5
or, P(A)+1—P(B)—P(A)+P(AN B):g
A

— —P(AmB)|=—= |
or, 1-[P(B)-P(ANB)]=_ e
or, 1 S | P(A)=ﬂ

S S
or, FJ(A):4 | S 121_1:§

tistics, Serampore College



Q: If P(A)=0.36, P(B)=0.84, then the least value of
P(AnB)is:-?

__ Ans:We knowthat P(AnB) > P(A)+ P(B)-1 =
= - P(ANB)>0.36+0.84-1=0.2

So, least value of P(AnB)1s0.2



Q:If P(A)= % P(B) = % then maximum value of P(AuB)iIs:—?

Ans :We know that P(AU B) < min{P(A) + P(B)1}

= ~ P(AU B)smin<%+%,1> B

So, max. value of P(AUB) = L

12
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